A KO R

—_—

1

£

% it B ATAEYNERXUE A — BT EERIHBRER

£ it 5 it ERTHMIE3ITEH210%#

A L i H H $#4E4A813H

BH L 4 H H $#4%E48148

T E {itl % 3,575,000 1

C A K & K & m & ) 3,250,000
&5 AMLEHKS 55 1 Il AKLE 55 2 [l AKL S A&l EESS
1 |ERAHBIEC ) EEY —E X 2,643,900
2 MRS =R 57— 2,625,800 3]
3 AR =R R Er Y — 2,660,000

N ~ RE

4 |BRESHAMBEE S 2.640,000 2.904.000
5 |HRESEOENEILT AT A 2,641,000
6 [t 0 AR N I 2,650,000
7 MR EHtFREL 77T — X 2,644,700
8 |[FH—EILEM A 2,645,000
9 (MRXEHETE 2,683,000
10 [DBCh—# )L YR — Mkttt 2,626,000 3 )]
1 |2 A SN S 2,640,200
12 | KBBEIVERE RSt 2,663,500

13

14

FEReEBIC1 007D 1 0ICHYST 282 MR L 28O HAAE TH %,

IR WA AT N IR UL 57 5 0R80 5%




